

## District Health Assessment for Multiple District 201 through April 2016

ATTERNS.	TOWAL				Clubs							Mem	bership	1			Member Strength			Cancella	tion	Reports		Finance	Leadership		
District Name	Status/ Number of Months in Status *	Active Clubs	Clubs in Status Quo	Total Clubs	% Status Quo Clubs in Financial Suspension	New Clubs	Cancelled Clubs	YTD Net Club Gain/ Loss	Current Members In Active Clubs	Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	YTD Drop /	YTD NetGrowth (includes Active and Status Quo)	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelled Club Age	Due to	% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	Number of Region Chairs Recorded	Officers Vacancies **
201N1		62	0	62	0%	1	2	-1	1,48	70	1,487	177	218	8 -41	-2.68%	1,503	24	52%	8	14	100%	0%	0%	0%	12	6	
201N2		66	0	66	0%	1	0	1	1,65	70	1,657	190	186	64	0.24%	1,669	25	39%	0	0	0%	0%	0%	0%	13	6	
201N3		62	0	62	0%	0	0	0	1,28	70	1,287	120	149	9 -29	-2.20%	1,325	21	50%	0	0	0%	13%	5%	0%	13	0	2nd VDG
201N4	T(24)	51	0	51	0%	0	0	0	1,06	80	1,068	71	114	4 -43	-3.87%	1,102	21	45%	0	0	0%	0%	0%	0%	10	1	
201N5		75	0	75	0%	2	2	0	1,69	10	1,691	249	228	8 21	1.26%	1,690	23	43%	1	58	50%	13%	0%	0%	16	0	
201Q1		82	0	82	0%	0	0	0	1,90	90	1,909	200	251	1 -51	-2.60%	1,943	23	41%	0	0	0%	0%	0%	0%	13	0	
201Q2		67	1	68	0%	0	1	-1	1,27	10	1,271	180	261	1 -81	-5.99%	1,372	19	63%	39	6	100%	1%	0%	0%	10	0	
201Q3		72	0	72	0%	1	0	1	1,66	10	1,661	235	229	Э 6	0.36%	1,633	23	43%	0	0	0%	0%	1%	0%	12	5	
201Q4		62	0	62	0%	0	2	-2	1,29	70	1,297	143	138	B 5	0.39%	1,301	21	56%	43	8	100%	11%	0%	0%	11	0	
201C1		63	0	63	0%	0	0	0	1,25	10	1,251	115	153	3-38	-2.95%	1,307	20	59%	0	0	0%	2%	0%	0%	9	0	
201C2		61	0	61	0%	0	0	0	1,54	10	1,541	140	140	0 0	0.00%	1,548	25	39%	0	0	0%	0%	0%	0%	13	0	
201T1	T(19)	50	0	50	0%	0	0	0	1,22	30	1,223	89	120	0 -31	-2.47%	1,248	24	38%	0	0	0%	8%	0%	0%	12	0	
201V2		71	0	71	0%	1	0	1	1,68	30	1,683	181	113	3 68	4.21%	1,612	24	42%	0	0	0%	0%	0%	0%	14	6	
201V3		63	0	63	0%	0	0	0	1,29	60	1,296	122	122	2 0	0.00%	1,317	21	48%	0	0	0%	0%	0%	0%	12	0	
201V5		68	0	68	0%	1	3	-2	1,32	70	1,327	132	157	7 -25	-1.85%	1,373	20	51%	42	9	67%	7%	3%	0%	o	0	
201V6		61	0	61	0%	0	1	-1	1,35	90	1,359	99	102	2 -3	-0.22%	1,354	22	48%	40	8	100%	10%	0%	0%	10	0	
201V14		72	0	72	0%	1	0	1	1,40	0 0	1,400	218	124	4 94	7.20%	1,307	19	61%	0	0	0%	18%	0%	0%	12	0	
201W1	T(24)	47	0	47	0%	0	2	-2	84	0 0	840	91	130	0 -39	-4.44%	904	18	55%	29	10	50%	2%	0%	0%	11	1	
201W2		67	0	67	0%	0	2	-2	1,49	70	1,497	150	152	2 -2	-0.13%	1,534	22	48%	38	0	100%	0%	0%	0%	10	0	
		1,222	1	1,223	0%	8	15	-7	26,74	50	26,745	2902	3,087	7 -185	-0.69%	27,042	22	48%	30	113	80%	5%	0%	0%	213	25	



## District Health Assessment for Multiple District 202 through April 2016

CHTERNATION A					Clubs							Mem	bership				Membe	r Strength	-	Cancellat	ion	Rep	ports	Finance	Leadership		
District Name	Status/ Number of Months in Status *	Active Clubs	Clubs in Status Quo		% Status Quo Clubs in Financial Suspension		Cancelled Clubs	YTD Net Club Gain/ Loss		Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	Ne YTD (in Drop Act	YTD tGrowth icludes tive and tus Quo)	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelled Club Age	Due to	% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	Number of Region Chairs Recorded	District Officers Vacancies **
202 D	T(1)	42	0	42	0%	0	0	0	1,248	30	1,248	71	100	-29	-2.27%	1,295	30	21%	0	0	0%	5%	2%	0%	7	3	
202 E		52	0	52	0%	0	0	0	1,328	30	1,328	95	101	-6	-0.45%	1,351	26	33%	0	0	0%	0%	0%	0%	7	0	
202 F		48	0	48	0%	0	1	-1	1,46	50	1,465	85	97	-12	-0.81%	1,496	31	35%	23	0	100%	0%	0%	0%	7	4	
202 J		39	0	39	0%	0	0	0	1,270	0 0	1,270	74	79	-5	-0.39%	1,274	33	23%	0	0	0%	5%	3%	0%	6	0	
202 K		83	0	83	0%	1	4	-3	1,78:	30	1,783	212	214	-2	-0.11%	1,839	21	45%	24	46	100%	20%	0%	0%	14	4	
202 L		62	0	62	0%	0	3	-3	1,79	50	1,795	121	169	-48	-2.60%	1,881	29	18%	46	11	100%	8%	0%	0%	12	0	
202 M		52	0	52	0%	0	1	-1	1,33 <sup>,</sup>	10	1,331	106	127	-21	-1.55%	1,373	26	33%	43	5	100%	0%	0%	0%	7	3	
		378	0	378	0%	1	9	-8	10,220	0 0	10,220	764	887	-123	-1.19%	10,509	27	31%	33	62	100%	7%	1%	0%	60	14	



## District Health Assessment for Multiple District 307 through April 2016

MERNATIONAL				Clubs					Membership								r Strength		Cancella	tion	Reports		Finance	Leadership		
Status/ District Number Name of Months in Status *	Active Clubs	Clubs in Status Quo	Total Clubs	% Status Quo Clubs in Financial Suspension		Cancelled Clubs		In Active Clubs	Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	Net YTD (in Drop Act	cludes ive and	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelle Club Age		% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	of	District Officers Vacancies **
307 A1	63	0	63	0%	9	0	9	1,973	30	1,973	618	194	424	27.37%	1,610	31	19%	0	0	0%	16%	0%	0%	11	4	
307 A2	84	0	84	0%	11	1	10	2,51	70	2,517	571	169	402	19.01%	2,279	30	18%	3	4	0%	15%	0%	0%	15	5	
307B1	76	0	76	0%	4	1	3	1,879	90	1,879	482	353	129	7.37%	1,741	25	37%	5	4	100%	16%	1%	0%	12	6	
307B2	66	0	66	0%	6	1	5	2,15	70	2,157	539	256	283	15.10%	1,920	33	29%	2	20	0%	11%	0%	0%	10	4	
	289	0	289	0%	30	3	27	8,52	60	8,526	2210	972	1,238	16.99%	7,550	30	26%	3	28	33%	15%	0%	0%	48	19	



## District Health Assessment for Ident 5803 - TIMOR LESTE - UND through April 2016

CHTERNATIONAL .	Clubs								Membership								Strength	Cancellation			Reports		Finance	Leadership		
Status/ District Number Name of Months in Status *	Active Clubs	Clubs in Status Quo	Total Clubs	% Status Quo Clubs in Financial Suspension	New Clubs		YTD Net Club Gain/ Loss		Current Members In Status Quo Clubs	Current Total Members Count	YTD Add	Ne YTD (in Drop Act	cludes tive and	YTD NetGrowth% (includes Active and Status Quo)	Member Count 12 Months Ago	Average Member Count Per Club	% of Clubs with less than 20 members	Average Cancelled Club Age	Members Lost Due to Cancelled Clubs	% of Clubs Cancelled for Non-Financia I	% No MMR in 3 Months	% No Officer Report in 12 months	% of Clubs with balance 90+ days	Number of Zone Chairs Recorded	Number of Region Chairs Recorded	District Officers Vacancies **
ldent 5803 - TIMOR LESTE	1	0	1	0%	0	0	0	1	50	15	0	0	0	0.00%	15	15	100%	0	0	0%	100%	0%	0%	0	0	
	1	0	1	0%	0	0	0	1	50	15	0	0	0	0.00%	15	15	100%	0	0	0%	100%	0%	0%	0	0	

\* - District Status: P - Provisional, T - Transitional.

<sup>\*\* -</sup> District Officers Vacancies: DG - District Governor, 1st VDG - First Vice District Governor, 2nd VDG - Second Vice District Governor.